<2
E QTG R o v Multiply decimals by 10,100,1000

Name: Date: Score:
3.762 x 10 = 10.317 x 1000 =
8.761 x 10 = 7.045 x 10 =
4.579 x 10 = 8.467 x 10 =
4.207 x 100 = 5264 x 10 =
10.94 x 1000 = 10.985 x 10 =
6.651 x 10 = 7.6 x 100 =
4.216 x 1000 = 8.142 x 100 =
8.777 x 1000 = 10.302 x 10 =
2.224 x 1000 = 10.294 x 10 =
1.988 x 1000 = 2.073 x 100 =
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E QTO R %‘ v Multiply decimals by 10,100,1000

Name: Date: Score:
3.762 x 10 = 37.62 10.317 x 1000 = 10317
8.761 x 10 = 87.61 7.045 x 10 = 70.45
4.579 x 10 = 45.79 8.467 x 10 = 84.67
4.207 x 100 = 420.7 5.264 x 10 = 52.64
10.94 x 1000 = 10940 10.985 x 10 = 109.85
6.651 x 10 = 66.51 7.6 < 100 = 760
4.216 x 1000 = 4216 8.142 x 100 = 814.2
8.777 % 1000 = 8777 10.302 x 10 = 103.02
2.224 x 1000 = 2224 10.294 x 10 = 102.94
1.988 x 1000 = 1988 2.073 x 100 = 207.3
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